


 ENTER alpha, M_(3/2), tan(beta), sgn(mu), M_t:
4,21000,10,1,173.3

 ENTER moduli weights nQ, nD, nU, nL, nE, nHd, nHu [/ for all 0]:
.5,.5,.5,.5,.5,1,1

 ENTER moduli parameters L1, L2, L3 [/ for all 1]:
/

 Run Isatools? Choose 2=all, 1=some, 0=none:
 M_1        =  433.33     M_2            =  494.08   M_3       =  785.15
 mu(Q)      =  441.47     B(Q)           =   37.08   Q         =  611.17

 M_Hd^2     = 0.244E+05   M_Hu^2         =-0.195E+06 TANBQ     =   14.591

 ISAJET masses (with signs):
 M(GL)  =   820.27

 M(UL)  =   735.01   M(UR)  =   716.75   M(DL)  =   739.71   M(DR) =   717.84
 M(B1)  =   679.88   M(B2)  =   714.98   M(T1)  =   538.27   M(T2) =   749.67

 M(SN)  =   443.24   M(EL)  =   450.95   M(ER)  =   410.52
 M(NTAU)=   439.37   M(TAU1)=   400.14   M(TAU2)=   452.30

 M(Z1)  =  -389.53   M(Z2)  =  -443.91   M(Z3)  =   445.47   M(Z4) =  -537.28
 M(W1)  =  -408.44   M(W2)  =  -527.44

 M(HL)  =   114.60   M(HH)  =   472.09   M(HA)  =   468.96   M(H+) =   478.79

 theta_t=   0.9924   theta_b=   0.4300   theta_l=   1.2674   alpha_h=   0.0715

 NEUTRALINO MASSES (SIGNED) =  -389.532  -443.910   445.467  -537.279
 EIGENVECTOR 1       =  -0.49030   0.54897   0.37278  -0.56505
 EIGENVECTOR 2       =   0.28127  -0.27972  -0.43961  -0.80585
 EIGENVECTOR 3       =  -0.70852  -0.70288   0.05374  -0.03263
 EIGENVECTOR 4       =  -0.42248   0.35545  -0.81541   0.17398


